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i Answer ALL questions.

PART A — (10 + 2 = 20 marks)

L What i the difference hetsscon plan and ma

Whit do yos understand by rangine”
8 Dofine Geographical Meridias

4 State o pornt probems in plane table survesing.
5 Whatdoyon meast by datum surfice?

5. Blention ang two characteristios of contonr

7. Define transiting

Differentiate between Consecutive coordmates and
Indeendent coordinates.
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10, Whatis grade? How it would b oxprossed?

PART B 6 16 = 50 marks

TG ) A distance of 2000 metres was wewsured by o
30 metre chain, Later on, i was derected bt
e lne was 02 m ton long Amsther
500 motro G, total 25001 s mensired and
was detected that the chain was 015 5 1
long. IF the length on the cham tn the 1itial
stage. was quite comrect, determine the exact
Longth that was measured, @

G0 A stoel tape 50 m long, standardized at 10°C
with a pull of 100 N wsed for measuring 2 base
ine. Fund the carsection per tape Jenth, i€ e
Lemperature at tho time of meastrement wis
20°C. and pull apphied was 130 N, Denits of
steel = SO0 gim® WE of tape = A8 N
F =200 10° Niew Coelfciont of expansion of

s por 170 12 ¢ 107 =

o
01 Desentie the fllowing
G Dircet ranging and idiveet ranging
6 Bace e and check e
G e Engancees chain and metric chain

G0 Pranciple of an aptical square as
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The bearings of the sudes of a clased traverse
ABCDEN ave as folluws’

Sile £ R
AR st 28715
B 200

o P ot
DE 18115 115
EA [P sty

Compute the mtero: angles of tracerse and
exereise necessary checke. i

The Bollowing s the data regardine 3 closed
compasi tewverse RS faken | clockoie
rection

1 and B3 atstation P = 56° and 15

DT and B of line RS -

respectively

G Inchuded angles £Q = 100° it = 105

21" and 10

W Lol sutraction: s statien - 2

G Al e ahsorvations were Tree o )
the rvors exeeps loca] attsaction

From the abuve data

@) Caleulate the Tocal attracion a0
Scations P and §

(B Caloulate the Corrected hearings of
all the ines and tabulate he

or
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State these point problom i plane table
urvesing and describe how it 3 sl by the
cracimg paper methed” ]

Discuss the various sasrees of ervor 0 plare
Lable surveyin: ]

During iy Teveling, the folloing sote 3 e
B, 062, 205, 1.42, 255, and 2,42 metres
F$.= 244, 135,058, and 241 motres.

The first B5. was takers on a B M. RL 100.00
seters. From the st B.S. 1L is required to et
s cach at @ distance of 30 metzes o
i graciont of 1in 200 Enter chose notes in
L form o ovel bk tin vour answer back! aund
Calealte the R of U fop of each pes by rise
and Tl et apply e vl checs )

Heciprical Jesels were taken with o dunpy
Joveland following  observations  were
recorded

Lot Near station Stafl reading a station

A B
A Loz 137
» o850 0500

R of station A s o 0 he 620 155
Caleulate the 1. of station .

Al ealealate the exvor in Hne of colbunation
i state cearly whether i s el
upward o dow s ]

o
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o

Alevel was set wp ot point O and distances to
o stall stations & awd B were 130 m and
260w sespeccively. The observed  stalt
readings an stations A and T were 2,725 and
1855, Find the corvect diffezene of levels
betwween stations & and 1 @

From a sopngraphical map_ e azcas eockosl
within the contous lines and alog the face of 3
proposed dam, are as given below

Conranr Avea (50, merres)
a00 29750
205 26850
200 21050
55 1500
20 1300
2 E
o sis0
26 5

260 Giontom) 20

Cateslate he volume of water in the reservoir
formed, when the wator Jovel bt an elevaton
o0 m, osing:

01 Topesidal Formula

@

Prismoidal Forruula. ™
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G000 Ateaversc s run o st ot a e MO = 1900 m
a bt anglos o & given Tone M. The longhs

and bearings of traverse legs are observed o
Tl

Lio Lowgth Bearings

RN o

10 S50 120000

or 2000 s

o = =

Compue the longth and beaving of PQ. (51

G0 3 mot possible 1o measure the length and ti
the reetion of Hne AR divcer’s on accaunt of
mohetrution  benween  the st
Nand B A teaverse ACDI was, therefore, sun
and followss data was obtained
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